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Question Number : 1 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

If "gorbflur' means fan belt," pixngorbl” means ceiling fan, and "arthtusl” means tile roof. Which word could
mean "celing tile'?

Options:

1. ¥ Gorbltus]
2. % Flurgorhkl
3. % Arthflur
4. % Pixnarth
5. % Pixtus]

Question Number : 1 Question Type: MCQ
Correct: 2.0 Wrong: 1.0
Gorbflur 7 &f § B e, pixngorbl @7 apf § G &4, o arthtus] @7 apf § T8 0 91 T e @7 anf § difw

TEA?
Options:

1. ¥ Gorbltus]
2. % Flurgorbl
3. % Arthflur
4. % Pixnarth

5 # Pixtusl



Question Number : 2 Question Type: MCQ
Correct: 20 Wrong: 1.0

At a cricket Match, Prerna was sitting in seat 171, Harshith was sitting to the right of Prerna in seat 172, In the
seat to the left of Prerna was Shobhit. Rahul is sitting to the left of Shobhit In Which seat Rahul is sitting 7

Options:
1.9 1649

2. % 173
® 174
® 168
* 171

Mo

Question Number : 2 Question Type: MCQ
Correct: 2.0 Wrong: 1.0

T Topre el , RO HIE H. 171 WY o4 T 32 o RO o ST 900 §IE &, 172 UT a1 gol £m WO & STt aew i am
RGeS o el U 8T g7 4N TEe (ohe €ie 0§37 G157

Options:
1.9 164

2 % 173
® 174
% 168
® 171

Mo W

Question Number : 3 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
Find the next term in the givern series:

14, 28, 20, 40, 32, 64, 7
Options:

1. % 52

2. ¥ 56

2% 128
4 % 98

E % 72

Question Number : 3 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

FIRIEE IR R KR AT
14, 28, 20, 40, 32, 64,7
Options:

1. % 52

2. ¥ 5B

3. % 128

4 % 96

w72

Question Number : 4 Question Type: MCQ
Correct: 20 Wrong: 1.0

Find the next term in the givern series:
ADH - ZwWs o CF]



Options:
1. % ¥VR

® HUS
#® ¥TR
® WUR
& HUQ

L

Question Number : 4 Question Type: MCQ
Correct: 20 Wrong: 1.0

ST At # ST ug 3
ADH: ZWS5S . CFJ:

Options:
1. % yvR

® yus
® ¥TR
#® WwWUR
Lo}

Mo

Question Number : 5 Question Type: MCQ
Correct: 2.0 Wrong: 1.0
Pick the odd cne out,

Options:

1. % Unigue

2. ¥ Beautiful

3. % Rare

4. % Exceptional
5. % Singular

Question Number : 5 Question Type: MCQ
Correct: 20 Wrong: 1.0

S T e & T

Options:

1. % arigdta

2 o Hax

3. % gefw

4 % ST

S % s

Question Number : 6 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
Find the next two terms of the ZIvEnl Series:

2, 21,322 29 22, 27,32, 7,7
Options:
1. % o5 32

o ¥ 31 32
3. ® 29 3z
4 #® 29 30



¥ 25 30

Question Number : 6 Question Type: MCQ
Correct: 2.0 Wrong: 1.0

o g7 A0 3 s v A
32,31, 22, 29, 32, 27, 32,77

Options:

1.9 25, 32
2 %31 32
3 % 29 32
4. % 29 30
5. % 25 30

Question Number : 7 Question Type: MCQ
Correct: 20 Wrong: 1.0

Choose the pair of words which bears the same relationship as the pair given below,

Depressed - Sad

Options:

1. # MNeat : Considerate

® Towering : Cringing

® Rapid : Plodding

#® Progressive : Regressive
¥ Exhausted : Tired

Mo

Question Number : 7 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

T T T o e wa B S Ry Ty ees g A

STETETeT 9
Options:

1. % Toew : THomwdte
2 % g T

3. ® Frer oiemt

4 % e aidmwT
S, ¥ el ST AT

Question Number : 8 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
Pick the odd cne out,

Options:

1. ¥ Eel

® Lobster
# Crab
#® Shrimp

L

% Copepod



Question Number : 8 Question Type: MCQ
Correct: 20 Wrong: 1.0
T Fae e & 3

Options:

1. ¥ ga

# HTaes
® T
® gt

® iz

Mok o

Question Number : 9 Question Type: MCQ
Correct: 20 Wrong: 1.0

If in a certain language 'white' is called 'green’, red' is called 'black’, 'black’ is called 'white', 'green’' is called
'blue', then what is the colour of buffalo in that language?

Options:

. % green
* red
% White
#® hblue

% Blacl:

=

Question Number : 9 Question Type: MCQ
Correct: 2.0 Wrong: 1.0

ot U T T # Wi WO WET AT 8, AT ®CWAT FET AT S, CHAT BT WET AT 5, ELT W 16T BRI AET
2, a7 I AT H A F 7 ar Fr E?

Options:

1. % 50
® A
.V g
® e
& RIAT

L

Question Number : 10 Question Type: MCQ
Correct: 20 Wrong: 1.0
Find the next term in the givern series:

1K1, 1M3, 157, 153, 7
Options:

1. % 1TE

2. % 111

z% 2Vl

4. ¥ W3

% 21

Question Number : 10 Question Type: MCQ
Correct: 2.0 Wrong: 1.0

FARIEE LR KIS

1K1, 1Mz, 107, 1597

Options:



1. % 1TE
2. % 1U1
3% 2v1
4. ¥ 2W3
5. % 211

Question Number : 11 Question Type: MCQ
Correct: 2.0 Wrong: 1.0
Zhoose the pair of words which bears the same relationship as the pair given below,

Feral : Tame

Options:

1. % Rancid : Rational

# Repetitive : Recurrent
® MNettlesorme : Annoving

# Repentant : Honourakble

Mok

¥ Ephemeral : [mmortal

Question Number : 11 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

T =g I T = T gt gey & S e Ry seg g Y
GiTIFﬁ:EI'IFﬁL

Options:

1. % gricer g T @1

2 ® GO S|

3. % Feferwemg

4. ¥ mgTaTdr e

S, ¥ aeeTie: ST

Question Number : 12 Question Type: MCQ
Correct: 20 Wrong: 1.0

If aptacse means first base, eptacse means secornd base and lartabuk means ballpark. Which word could
mean baseball ?

Options:

1. % buklarta
Z ® oseepta
3. % bukose

4. ¥ oselarta

C. * osebuk

Question Number : 12 Question Type: MCQ

Correct : 2.0 Wrong: 1.0

iy Aptacse 7 a0 § first base, eptacse @7 37 § second base Ud lartabulk #T 27f § ballpark §, 1 baseball &7 2pf
T ;

Options:
1. # Buklarta



= % Oseepta
2. * Bukose
4. ¥ Cselarta
5. % Osebuk

Question Number : 13 Question Type: MCQ
Correct: 20 Wrong: 1.0

What nurnber should fill the blanlk?
4 7, 25 10 20, 1, 149, 15

Options:
1. % 15
. #® 18
% 2B
¥ 13
S %11

2
3
4
5

Question Number : 13 Question Type: MCQ
Correct: 2.0 Wrong: 1.0

Tor T T W17 T HET
4 7. 25 10, __ 20, 16 19, 15

Options:
1. % 15
= % 18
3. % 2B
4 % 13
% 11

Question Number : 14 Question Type: MCQ
Correct: 20 Wrong: 1.0

Sachin is sitting in between Yuvraj and Eohit. Viru is sitting to the left of Rohit and Anil is to the right of
Yuwraj. If these people are facing south, Who is sitting to the extreme right?

Options:

1. * Sachin
2. % Yuvraj
3. #® Viru
4. ¥ Anil
5. # Rohit

Question Number : 14 Question Type: MCQ

;%;rect o amﬁ/fr%%ala?aﬁaﬁma e, AT 7 o e 3aT & ofi s e 3 IR avw daT &1 A A w afge B avw
Hﬁﬁ‘ﬁq@;ﬂqﬁ T Hare I X F 1 FaT 27

Options:

1. ® 9=

2. ® I

3 ® de

4 & 1A

5. % 7T



Question Number : 15 Question Type: MCQ
Correct: 20 Wrong: 1.0
Choose the pair of words which bears the same relationship as the pair given below

Umbrage : Offense

Options:

1. % Confusion : Penance
2. * Infinity : Meaning

3. % Decorurn : Decoration
4 % Elation : Jubilance

5. % Cutrage . Consideration

Question Number : 15 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

ﬁzmqﬁm?nﬁaﬁgﬁﬁﬂﬁaﬁﬂaﬁ%ﬁ:ﬁéﬁqwmwﬁ%
Options:

1. % g urabeT

2. % T aef

3. % gAET T

4 UprAdT g

5. ® sl T9Em

Question Number : 16 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
I a certain code SWAT 15 writtenn a5 8416 and TRON is writtenl as 2925, How is WARN written in that code?

Options:
1. # 8135

* 2684
® 9258
® 4915
¥ 4195

Mo o

Question Number : 16 Question Type: MCQ
Correct: 2.0 Wrong: 1.0
UF G BE H SWAT #8416 TET 9| 8 ofF TRON #6925 Tar AMT &, 97 39 #ig # WARN &1 #% forgr AT 27

Options:

1. ® 8195
® 2ER4
® 9258
® 4915
¥ 4195

L

Question Number : 17 Question Type: MCQ
Correct: 20 Wrong: 1.0
If¥ = 125 and BAT = 115, then the value of FAT is:

Options:



1. % 142
2. % 34
3. ¥ 135
4. % BB
S % 121

Question Number : 17 Question Type: MCQ
Correct: 2.0 Wrong: 1.0
Y = 125 W EAT = 115, T FAT FTHAA &

Options:
1. % 142

2. % 34
3.¥ 135
4 % BB
5% 121

Question Number : 18 Question Type: MCQ
Correct: 20 Wrong: 1.0

In a certain code 'rarvellous' is written as 'zneioviohf’. How would the word 'surprising' be written in the same
coce?

Options:

1. % filarhrmth
z ¥ fhlirirhtm
3. # fheiegfokr
4. % hfikirhrmt
5. % fkhirirmth

Question Number : 18 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
T G w2 # 'marvellous' B 'zneiovioh ! T7RaT AmaT 81 1 36 #1E | 'surprising' & $e Tergr [

Options:

1. % filirhrmth
2. ¥ fhlirirhtm
3. % fheiegfokr
4. % hfikirhrmt
5. % fkhirirmth

Question Number : 19 Question Type: MCQ
Correct: 2.0 Wrong: 1.0
Find the next termin the given series:

336, 305, 268, 227, 180, 7
Options:

1. % 137

=z % 163

3. % 146

4 ¥ 129

c. ¥ 133



Question Number : 19 Question Type: MCQ
Correct: 20 Wrong: 1.0

FARIEE LR R KR AT

336, 205, 268, 227, 180,7

Options:

1. % 137
2. % 163
3% 148
4 ¥ 129
5. % 133

Question Number : 20 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
_hoose the pair of words which bears the same relationship as the pair given below

Pedal : Bicycle

Options:

1. % Inch : Yardstick
2. % Wwalk : Skip

3. % Tire : Autormobile
4. % Buckle : Belt

5. % Car : Canoe

Question Number : 20 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

T =g I T = T gt gey & S e Ry seg g Y
=a g

Options:

1. % g7 17

2. ® O

Z. R T AEmEEa

4 % FET dvc

5. mgaE st

Question Number : 21 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

If moolokarn means blue sky, wilkospadi means bicycle race, moolowilko means blue bicycle then which word
could mean "racecar” Y

Options:

1. * wilkozwet
= % spadiwilko
3. % moolobreil
4. ¥ spadivolo
5. % moolowilko

Question Number : 21 Question Type: MCQ



Correct: 20 Wrong: 1.0

It moolokarn &7 awf § AT e, wilkospadi ®7 o § AEidEd ais, moolowilke ®T 2Rf & AieT GEed a1 [T fMeg &1

Options:

1. % Wilkozwet

= % Spadiwillo
3. % Moclobreil
4. % Spadivolo

5. % Moolowilko

Question Number : 22 Question Type: MCQ
Correct: 20 Wrong: 1.0
Find the Highest Cornmon Factor of 4052 and 12576,

Options:
1. %7
=
® 132
® 21
v 4

Mo

Question Number : 22 Question Type: MCQ
Correct: 2.0 Wrong: 1.0
4052 3% 12576 & AgeH GATIER & T 0T 7T

Options:
1. %7
2 %5
3. % 13
4 % 21
SV 4

Question Number : 23 Question Type: MCQ
Correct: 20 Wrong: 1.0

Consider the nurnbers 4%, where n is a natural nurmber. Check whether there is any value of n for which 4™
enids with the digit zero.

Options:

1. # All natural numbers

= % Natural nurmbers between 120-130
2. ¥ MNo natural number

4. % Natural nurmbers 510 and 640

5. % Odd natural numbers

Question Number : 23 Question Type: MCQ
Correct: 20 Wrong: 1.0

4" Fe OF TR A R T 0 U W ST 31 S wé o aar 4T @ A A ST A sl o e aA g 8
Options:

1. % oudf mrgiaw Seand

2. % 120-130 & = & UgidE gean

3. ¥ T WETEw G T8l



4, ¥ grpide @ET 510 3T 640
5. % Touy e g

Question Number : 24 Question Type: MCQ
Correct: 20 Wrong: 1.0
The quotient of a non zero rational and irrational nurmber is:

Options:

1. # rational

2. ¥ irrational

3. % Neither rational nor irrational
4. % zerp

5. % infinity

Question Number : 24 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

e T Q[T Tt O ST & W6 &
Options:

1. % gl

2 ¥ amidg

3. % T OE T 5T emtorT

4 ® g

S % amT

Question Number : 25 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
& pair of linear equation whiich has o solution is called as:

Options:

1. ¢ inconsistent
2. % dependent
3. % consistent
4. % coincident

5. % parallel

Question Number : 25 Question Type: MCQ
Correct: 20 Wrong: 1.0

I FHIHT BT U g FIEwT B g Tl 51a7 5, 9% FeedT 5
Options:

1. % aEmT
® i
® T
#® Tt
® gAMEET

Mo

Question Number : 26 Question Type: MCQ
Correct: 2.0 Wrong: 1.0
Zero's of the quadratic equation given below lies at:

%4 + 7x +10



Options:

1. % -1and -§
2 % -Band +4
. % t+4and +5
4 ¢ -2and -5
S % —Zand +7

Question Number : 26 Question Type: MCQ
Correct: 20 Wrong: 1.0

el Ty T T T A T T O e g

%% + Tx +10
Options:

1. % -1 3-6
2 % _gaflvg
3 % 43RS
4 ¥ -2 3 -5
5% 3w +7

Question Number : 27 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
The & F whose third term is S and seventh term is 9 1s;

Options:

1. % 13579, ...
o % 135575 ...
3. ¥ 34567 ...
4 ® 2355

5 % Data Insufficient

Question Number : 27 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
AP MR dfMOI g S s ddEai g 9 5 98 5

Options:

1. % 13579 ...
2 % 135575 ...
3. ¥ 34567 .
4 % 2355 .

5. % 3faT Ay

Question Number : 28 Question Type: MCQ
Correct: 20 Wrong: 1.0
Howr tiany two digit numbers are divisible by 37

Options:
1. ¥ 30

o % og
3 %29
4 % 28
5% 32



Question Number : 28 Question Type: MCQ
Correct: 20 Wrong: 1.0

2 ¥ T o afel @1 HeEad =T 27
Options:

1.9 30

® 25

® 29
® 28
4

3

Mok o

Question Number : 29 Question Type: MCQ
Correct: 20 Wrong: 1.0

A three-digit number 232 is added o the number 326 to give three-digit number ShS which is divisible by 9.
The value of 5a-2b is

Options:
1.%0
w1
V2
® 4
® 5

Mo

Question Number : 29 Question Type: MCQ

Correct: 2.0 Wrong: 1.0

T =T & UF HET 295 W 326 HAISTAMET 8 a1 317 i Sy She WA AT & = 9 & BT 8 Sa-2h FTHE §
Options:

1.%0

2 %1

V2

4 % 4

5. %5

Question Number : 30 Question Type: MCQ
Correct: 20 Wrong: 1.0

Three times the first of three consecutive odd integers is 2 more than twice the second integer. What is the
third integer 7

Options:
1. 11
2. % 15
3% 8
4 % 17
E %9

Question Number : 30 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

o 1w e iRt § & ugel @7 o 4 AT gEe quridr o I ¥ 3 arfe 81 e gl o g7
Options:
1.9 11

2 % 15



3.%8
4. ® 17
5. %9

Question Number : 31 Question Type: MCQ
Correct: 2.0 Wrong: 1.0

What will be the unit's digit of (1231)
Options:
1. % 2
® 7
® 3
!
® g

Mo

Question Number : 31 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

(1231)12% & zaré a7 =fe T e
Options:
1. %2
2 % 7
3. % 3
4.1
5. %5

Question Number : 32 Question Type: MCQ
Correct: 20 Wrong: 1.0

Nurmber of zerces in: 1001 x 99° x 987
Options:

1. % 2221

Z % 1021

3.9 1124

4. % 9B

5. ® BOY

Question Number : 32 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

122?

100t x 99% % 987 . x 1190 # gpeit 7 e B

Options:
1. % 2231

2. % 1021
3. ¥ 1124
4. % 988
5. % 807

Question Number : 33 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
HCF of (6,72,120) is:



Options:
1. % 4
2 %3
3. %7
4 ¥ B
%2

Question Number : 33 Question Type: MCQ
Correct: 20 Wrong: 1.0
(6,72,120) & HeaW AT F &

Options:
1. % 4
=z ® 3
3. %7
4 ¥ B
%2

Question Number : 34 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
Arithmetic mean of a4 and ¢ is:

Options:
1.9 (a4 2
® ac

® a-q2
® alc

# Sa4r

Mo o

Question Number : 34 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
SR el A R e s

Options:
1. ¥ (a+0))2
#® ac
® -0z
® ajc

® 2a4c

L

Question Number : 35 Question Type: MCQ
Correct: 20 Wrong: 1.0

Wwhat is the walue of k for which the following systemn of equations has no solution:

Zu-8y = Zand kx + 4y =10
Options:

1. %2

2 %5
3 ¥ -1
4 % -2
5% -3



Question Number : 35 Question Type: MCQ
Correct: 20 Wrong: 1.0
k. T AT F7 3 Forel Tong Tergiicnd SteneoT UnaT @7 @18 5ol Aal Heddl &

Zx—8y = Zand kx + 4y =10
Options:
1. %2
Z ® 5
3.9 -1
4, % -z
. % -3

Question Number : 36 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

A Value of the polynomial Px) = %°-3x-4 is:
Options:

1.%0

4

® -9

%1

Mo o

® 3

Question Number : 36 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

Px) = x*~3x~4 Tg0E F1 7% A FHTE
Options:
1. %0
V4
% _q

®1

L

% 3

Question Number : 37 Question Type: MCQ
Correct: 20 Wrong: 1.0
The systern of equations given below has:

ck-bBy+1=0

Sx - 245w +3/5 =0
Options:

1. * Mo solution

= % Unigue solution

2. ¥ Infinitely many sclutions
4. % Cne solution

C. % 3 solutions



Question Number : 37 Question Type: MCQ
Correct: 20 Wrong: 1.0
ClEACR I E T R

Sx-By+1=0

Ik - (24[5w + 3|5 =0
Options:

1. % g gar gt

2 % arfEdte ger

. o aET eI H FE §A
4. % qmEd

5% ZEd

Question Number : 38 Question Type: MCQ
Correct: 20 Wrong: 1.0

Which of the following options is correct regarding Quantity 4 and GQuantity B given below?
Quantity &= x° + 1

Cuantity B= Zx-1
Options:
¥ Cuantity A 1S greater

—

2. % Quantity B is greater

3. % Two quantities are equal

4. ® Information insufficient

5. % Quantity & - Quantity B = 0

Question Number : 38 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

e T TE T A W T B o e # il | ® @ |7 ey /5l 57
A= + 1

T E= 2x-1

Options:

1.9 & i asT g

o ® ETiFISTE

= ® it otdaT s §
4 % AT St

S ® T A - IHEE = O

Question Number : 39 Question Type: MCQ
Correct: 20 Wrong: 1.0

or dividing 25 +3x+1 by x+2, wee get the quotient as:
Options:



Mo W e
®
L
#
+
i

Question Number : 39 Question Type: MCQ
Correct: 2.0 Wrong: 1.0

250 +3x+1 T x+2 & i et w, 28 amwe e
Options:

1. % 2

o ¥ oxu-1

3 ® oy +3

4 ® 3x-7

S.® Ty -3

Question Number : 40 Question Type: MCQ
Correct: 20 Wrong: 1.0
3+2+/5 is:

Options:

1. # rational

2. ¥ irrational

3. % syen number
4. % pdd number

5. #® Composite number

Question Number : 40 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
3+245 8

Options:

1. % gigd

2 ¥ amidg

3 % |EEE
4 % T HE
5. ® T "ear

Question Number : 41 Question Type: MCQ

Correct: 2.0 Wrong: 1.0

The prime factorisation of a natural number is
Options:

1. % zero

2. ¥ unique
= % infinity
4 # less than zero

5. % complex

Question Number : 41 Question Type: MCQ

. except for the order of its factors.



Correct: 20 Wrong: 1.0
T W T S o g VMEss, ______ 1T B, Tk TR o 0

Options:

1. % g0

2. wfdt

3 % aHT

4 % qmEdran
. ® gl

Question Number : 42 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

Staterment 1 and Staternent 2 are mentioned below along with two conclusions 4 and B. State which of the
conclusion follows.

Staternent 1. All politicians are corrupt.

Staternent 2. Sorme vourlg are corrupt.

Conclusion &: Some yourg are politicians.

Zonclusion B: Al politicians are yourlg.
Options:
1. % only conclusion & follows

. % Only conclusion B follows

e

= % MNone of them follows

4 % Both conclusion & and B follows
5

. ® FEither of thern follows.

Question Number : 42 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
Al T 1 o T @ 2 Tt A oW B & 91T SediEd [T T 21 a1 (o &1 T e Je1 27

T 1 Tt Tt W 3
T 2. FF T 9T Bl

A T AT TAT B

E: &t Te-iarart gar &

Options:

1. % e Tomad A T

® e T B Teear o

. e ot Ty Tt MeeaT g

® 4 oW E gl ey e g
® 90 W EE U ey T

L



Question Number : 43 Question Type: MCQ
Correct: 20 Wrong: 1.0
Guide is to direct as reduce is to:

Options:

1. ¥ decrease
2. % [maintain
2. % increase
4. % preserve
E % joyful

Question Number : 43 Question Type: MCQ
Correct: 2.0 Wrong: 1.0
Guide T Hael Direct & J97 WFT § 7T TR reduce F7 G T

Options:

1. % decrease
2. % maintain
. ® increase
4. % preserve

L. % joyful

Question Number : 44 Question Type: MCQ
Correct: 20 Wrong: 1.0
If in a calendar year, there were 436 days and 9 days in a week. How many odd days would that year hawve ?

Options:
1.%1
2. %5
3. ¥ 4
4 % 3
E %2

Question Number : 44 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
i U Feec au ¥, 436 A T R gwr aAg # ¢ HF & 39 9 gy Tem A g

Options:
1.% 1
® 5
¥4
® 3
® 2

Mo o

Question Number : 45 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

Yogendra moves 5 km in East direction. Then he turns to his right and then he mowves 8 k. After this he turns
t0 his left and mowves & ko Then he turns to his left and moves § k. Now how far is he from his starting
position 7

Options:
1. % 13
2. %5
2. % 16



4 ¥ 10
5 % 25

Question Number : 45 Question Type: MCQ
Correct: 20 Wrong: 1.0

7S ferdt o &g Ay - Id & Tepdt ST ETE AT

Options:
1. % 13

2. %5
3% 16
4.9 10
% 25

Question Number : 46 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

Mathews started to move in the direction of east inl an open field and stopped after 35 m. Now he turned to
right and mowved 15 m. Mow how much minirmurm distance he have to cover to reach his starting point?

Options:

1. ¥ approx 38m
® approx 44m
® approx 32m

® approx 21m

Mo o

® approx 53m

Question Number : 46 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

1 U et A H g o e # <o g T Sl 35 Hied o Ang w6 T S5 w0 giig 90 G2 T4 $I 15 HiT =
SR Telvg ToF Ug=i § 37 39 FH & 0 &M% Tepail gir 7 w57

Options:

1. & @R 38 A
® T 44 1Y
® T 32 1
® T2l ot
#® TSI AT

L

Question Number : 47 Question Type: MCQ
Correct: 20 Wrong: 1.0

Staternent 1 and Statement 2 are mentioned below along with two conclusions & and E. State which of the
conclusion follows.

Staterment 1:; All children are innocent.
Statement 2 All children are cute,

Corclusion A S0me iNnocent are cute,
Conclusion BE: All cute are innocent.

Options:
1. % Only conclusion B follows
2. % MNone of them follow

2. ¥ Both conclusion & and B follow



4. % Fither of thern follow

E. ¥ Only conclusion & follows

Question Number : 47 Question Type: MCQ
Correct: 20 Wrong: 1.0
e T 1 o wer @ 2 Tomat A oW B & W7 Seeliad ST T 81 aa T [0 i T ey et a7

e 1 a3
T 2. T At S T B

A b ]
Options:

1. % dad -ma 7 eaaT g

= % i ot e Tt FeeaT

% % oW | Tl v Fadar g
4. ® Fau & wig uw ey e
. o e & e AeeaT 5

Question Number : 48 Question Type: MCQ
Correct: 20 Wrong: 1.0

The high school math department needs to appoint a new chairperson, which waill be based on seniority. Ms.
West has less senicrity than Mr. Ternple, but more than Ms. Brody. Mr. Ehodes has more seniority than Ms.
West , but less than Mr. Temple. Mr. Temple doesn't warit the job. Who will be the new chairperson of math
departrmnent ?

Options:

1. % Mr. Rhodes
* Ms. Brody
® Ms. West

® Mr. Temple

Mok

® Cannot be deterrmined

Question Number : 48 Question Type: MCQ
Correct: 20 Wrong: 1.0

Tererer @ Tt e @ U srede W @ ol ST eTEaT &, S SEdT & ST UT i A T e (Ms West) @
gﬁw%ﬁm Mr. Termple) & FH 2, #led T 2T s, Erody) & aifém 3] & U129 Mr. Rhodes) &1 aiear gt see &
ST, SRneT ot ST & T 81 5 ST T e 2 Sreed 2 1 T T 3 7 areny A G

Options:

1. ¥ #frviza

2 % g AET

3 % i

4. % ot e

5. % Tt Agt T = a@war

Question Number : 49 Question Type: MCQ
Correct : 2.0 Wrong: 1.0



Mumber of triangles in the given figure is:

Options:
1. % 20
o % op
3. v 24
4 % 25
5. % 28

Question Number : 49 Question Type: MCQ
Correct: 20 Wrong: 1.0

mmﬁaﬁﬁﬁfﬁﬁw%

Options:
1. % 20

o % oD
3 ¥ 24
4. % 26
S % 28

Question Number : 50 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

nju::ucquc
U ClcNiunNu 33N
(1) (2) (3) (4) (5)

The figure which is different from the rest is:
Options:
1. % 4
2 ® 5
3 %1
4 ¥ 3
c ® 2



Question Number : 50 Question Type: MCQ
Correct: 20 Wrong: 1.0
AR e SET E, 95

M JU 330U MU
Bl g Wiy Wimmiy
(1) (2) (3) (4) (5)
Options:
1. % 4
2 %5
3 %
4 ¥ 3
5% D

Question Number : 51 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

Three different positions of Dice are shown in the abowve figures. Which of the hidden nurnbers adjacent to &
in & isfare cormumon to the hidden numbers adjacent to Sin < 7

Options:
1. % 4 1

o %25
3 %3
4 % g
5. ¥ lNone

Question Number : 51 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

I T2 H o T sre- st et femnd v 81 A # 5 & e ® 9 Bt g2 g C # S W e & it g

Options:
1. % 4 1

> ®og
3 ® 3
4 ® g

5. ¥ T g

Question Number : 52 Question Type: MCQ



Correct: 20 Wrong: 1.0

Eichard is taller than Shaun, but not as mach as Michael, Ed is taller than Mike who is shorter than Shaun.
Who is the shortest of all?

Options:

. % Richard
.V Mike

# Shaun
* Ed

% Michael

—

Question Number : 52 Question Type: MCQ

Correct : 2.0 Wrong: 1.0

T off & arfirer e &, ATt ATeeret 3 AT dia ET §1 T Wigw & wa & S 97 9 51T 8 6l # Hae 5ley # £
Options:

1. ® f=2

Mo o

Question Number : 53 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

Given series of figure starts from the unlettered design on the extreme left. One and only one of the five
lettered designs does not match the series. That design 1s:

IMS &= ==E 0 WS
o (Bjed (B (R{N0 (W | |

A B C D E

Options:
1. %®a
®C
® b
e
® d

Mok

Question Number : 53 Question Type: MCQ

Correct: 20 Wrong: 1.0

ST 5% AT SlF 5T TOF ToHT TR Ol (2 & A gt 81 ST o Ui (&1 § & U 2 drae U f2e St § oF A5t
HREEIL NS

iImEEmEEmEOs dEmE
L

w (B (B0 (R(IC (M ™ ™
A B C D E

Options:

1. % 4

2. %

3 %E



4 ¥ E
c R D

Question Number : 54 Question Type: MCQ
Correct: 20 Wrong: 1.0
ATHISE 1S to palnting as Sernator 1s to:

Options:

1. ¥ attorney

2 ¥ law

3. # politician
4. % consultants

S ¥ constituents

Question Number : 54 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
FATHTE BT Talel TIFF & F6T 0§ 8 W Si-et & dae &

Options:

1. % ghim e

2 HAH

3 % g
4 % AARERTH
S % ooty

Question Number : 55 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

An Informal Gathering occurs when a group of people get together in a casual, relaxed manner. Which
situation below is the best example of an Informal Gathering?

Options:
1. % The book club meets on the first Thursday evening of every month.

2. ¥ After finding out about his promotion, Jeremy and a few coworkers decided to go for a quick drink after
worlk.

3. % Mary sends out 25 invitations for the bridal party of her sister.

4. % Jeffrv's company always have a routine meeting on every Monday during working hours, to discuss the
COMMPAany matters.

5. % George's dad send out invitations for his birthday party.

Question Number : 55 Question Type: MCQ
Correct: 20 Wrong: 1.0
T FITT T U T SR, T aor & fies 91 v et aar Soug o1t B R S v ate o el el weT

Options:

1. % UEqer Fod didad Todd Al & Ugel gpedid o a0 &1 BT 8l

2 ¥ T uggid & a H A, SAT S SEE §F qedHal J W @ el 40 ST Ui @7 e

= % F et Ag o TeaTg wie o TR 25 Fi @ R S T 3

4. % Fudt ATHAT U = W o o, ST (Jeffry) @ dueT & gHem @ e & S 9iHa @1 Uw i daw gidT 8
S, ® ST o AT = FEer SeAiee F el @ e T m

Question Number : 56 Question Type: MCQ
Correct : 2.0 Wrong: 1.0



If there are exactly 25 leap years in a period, then which of the following staterments are correct?

[. There are at least one century i that period.
II. There are at least two centuries in that period.
III. There are at most one century in that period.

[%. There are at rmost twd Centuries in that pericod.
Options:

1. # Il and IV only

2. % [ and III only

= ¥ [ and IV only

4. % 111 and I only

S % Only IV

Question Number : 56 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

e et # &t 25 #10 a gd 3, 7d faiied B & ®i 97 0T ol 27

1. 36 s # 0 & A UF G951 51T 8

1. 39 srafer & o & o &7 @aT g1t 2

111, 3 ayater # siféer & arferdr U 9ar 517 2l
IV, 39 sty # et & sl 21 9l g A

Options:

1. % Faall IV
2. % Fad ] ATl
3 ¥ FEA ] IV
4. % FaAl, 11 I
5. ® FEA v

Question Number : 57 Question Type: MCQ
Correct: 20 Wrong: 1.0

Posthumous Publication occurs when a book is published after the author's death.

Which situation below is the best example of Posthurmous Publication?

Options:

1. % Richard's illness took his life before he was able to enjoy the amazing sarly reviews of his nowvel.
2. % Melissa's publisher cancels her book contract after she fails to deliver the manuscript on time.
3. % George got his third book published before her loving mother's death.

4. % John never thought he would live to See his third book in his trilogy published.

5. % Elizabeth is honoured with a prestigious literary award for her writing career and her daughter receives
the award on the behalf of her deceased mother

Question Number : 57 Question Type: MCQ
Correct : 2.0 Wrong: 1.0



TR0 WS-l 38 T0 51T & el 15 Jeaor J9d oig® ol gog & =g WRTad 5iaT gl Al of T8 @19 &7 i foieia qea
T HIHT TS50 57

Options:

1.p\af’ TCere g e IO O SO SR SHIGT o TEel E1 sHTE o JEHT ST of ol

2. % STel HTeET HHS U WIS Teiit 3 Tl T5d 1 § 97 S8 Rk I8k [Ead &1 Sdas 1 & 4d] ol
3. ® ST &l THeT AT 1 1 Gog © Ugel SHH! o 1] [ehaTal WepTidig 51 TTs)

4. % ST WA R AR ST T H S ST fohdTe B AR ge i o T oy St g

. ® UG T I6E orEd F AT & oI U Wid 6 A0 o 0w Qe e o ST ST a7 71 S0 99 AT @1 J0% o Jae! sl
QeI TE0T Torerml

Question Number : 58 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
Secretly is to openly as silently is to:

Options:

1. % srarcely
2. % impolitely
= ¥ noisily

4. % quistly

5. % politely

Question Number : 58 Question Type: MCQ
Correct: 20 Wrong: 1.0
Secretly 7 Hael Openly & I8 WEW § T TEW Silently @7 Taer

Options:
1. ¥ srcarcely

2. % impolitely
=, ¥ noisily
4. % guistly
5. % politely

Question Number : 59 Question Type: MCQ
Correct: 2.0 Wrong: 1.0

Eelow are the 3 sets of staterments given. Select the most appropriate set (s in which the third staternent can be
concluded from the first two,

Set 1: All watermelons are greer. All greens are healthy. All watermelons are healthy.
Set 20 All men hawe a business. Mohan has a business. Mohan is a Man.

Set 3 All roses have a Fragrance. All flowers have a fragrance. All flowers are roses.
Options:

1. % Cnly set 2

#® Only set 3

# Both set 1and 2

® Setland 3

« Only set 1

Mo

Question Number : 59 Question Type: MCQ
Correct: 2.0 Wrong: 1.0



et et o A9 #T fqg Ty @ Hee IwgE de o e
T Tor T Tomepy WA 2 o TeRTAT A1 9T 8l

Set 1: all watermelons are green. All greens are healthy. All watermelons are healthy.
Set 2: all men have a business. Mohan has a business. Mohan is a Man.

Set 3 All roses have a Fragrance. All flowers have a fragrance. 4ll flowers are roses.
Options:

1. % Only set 2

2. % Only set 3

2. % Bothset 1and 2

4 % Bothset 1and 3

S ¥ Cnly set 1

Question Number : 60 Question Type: MCQ
Correct: 20 Wrong: 1.0

Fill in the blank(s) with the most suitable option.

Sheexpectsthat her son ______________.
Options:
1. #* can return

¥ may return

s
2. % should return
4. % could return
=

. ¥ st return

Question Number : 60 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
T Tere SUL Toed & a1 T ST & 97

She expects that her son

Options:

1. % canreturn

Z ¥ may return
2. % should return
4. % could return

5. % must return

Question Number : 61 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
Fill in1 the blanlkis) with the most suitable opticn.

All of a sudden, Harshith understood that he
Options:
1. % will lose

his wallet.



2 % lost
2. % shall hawe lost
4 * lose

E. % st have 1ost

Question Number : 61 Question Type: MCQ
Correct: 20 Wrong: 1.0

HE e ST Toiehed & |1 K &1 & 9]

All of a sudden, Harshith understood that he ______ his wallet.
Options:

. % il lose

¥ Jost

# chall have lost

=

# lose

# st have lost

Question Number : 62 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
Fill in1 the blank(s) with the most suitable opticn.

Arush Malawvika at the university last wecl

Options:

1.9 saw

# have seen
® il see

# oo

Mok o

# yrould see

Question Number : 62 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
T eI ST Toihed & a1 s T2IT & 9

Arush Malavika at the university last weels,

Options:

1. ¥ saw

# have seen
# yrill see

# gea

L

#® yrould see

Question Number : 63 Question Type: MCQ
Correct: 20 Wrong: 1.0
Fill in the blank(s) with the most suitable option.

After a heated argument with her sister, Trisha to post the letter.

Options:

1. % forgets

2. % has forgotten
2. ¥ forgot

4. % forgotten



E % will forget

Question Number : 63 Question Type: MCQ
Correct: 2.0 Wrong: 1.0
eI IULH Toihed & a1 e T2 & 9]

After a heated argurnent with her sister, Trisha _________ to post the letter.
Options:

1. % forgets

2. % has forgotten

3.9 forgot

4 % forgotten

5. % will forget

Question Number : 64 Question Type: MCQ
Correct: 20 Wrong: 1.0
Fill in the blank with the word that creates the most logical sentence.

Sandra Day O'Conrnor, the first worman to serve on the 1.5, Suprerme Court,
Fonald Feagan in 1951,

Options:

1. * she
* and
* but
¥ was

* ull

Question Number : 64 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
39 e o Tof T 9 AT GAiTEew JTidd a1 ST ]

Sandra Day O'Connor, the first woman to serve on the 1.5, Supreme Court,
Fonald Feagan in 1981

Options:

1. ®% she
2. % and
3. % but
4. ¥ yas

5% will

Question Number : 65 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
Fill in the blank with the correct verb form.

_______ the police irmmmediately,
Options:
1. % Call

2% Called

appointed by Fresident

appointed by President



3. #® Been calling
4. % Tocall
5. % Shall call

Question Number : 65 Question Type: MCQ
Correct: 2.0 Wrong: 1.0
TqET T = & T v 9

the police inmmmediately.

Options:
1.9 Call

# Called

# Been calling
# Tocall

# cShall call

Mok

Question Number : 66 Question Type: MCQ
Correct: 20 Wrong: 1.0
Fill inn the blanlk with the Ccorrect pronoun.

We arranged the flowers and placed in the center of the table.

Options:
1% it

. % this
¥ them
- % that

z
3
4
S % those

Question Number : 66 Question Type: MCQ

Correct : 2.0 Wrong: 1.0
Tl - & Tl T 4

We arranged the flowers and placed

in1 the center of the table.

Options:

1% it

Z. % this
2. ¥ them
4. % that
=

. ® those

Question Number : 67 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
Find out which part of the sentence below has an error and mark the option accordingly.

Mohan secured cent per cent marks and thus topped the list.
Options:

1. * Mohan secured

= ¥ cent per cent marks

= % and thus



4. % topped the list
5. ® No error in the sentence

Question Number : 67 Question Type: MCQ
Correct: 20 Wrong: 1.0

UdT AN o e o T Tpee | o aqhg ¢ ot degar fEwer @ BT #0

Mohan secured cent per cent marks and thus topped the list.
Options:

1. % Mohan secured

¥ cent per cent rmarks

# and thus

% topped the list

# o error in the sentence

Question Number : 68 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
Find out which part of the sentence below has an error and marlk: the OptiDI‘l accordinglg.r.

According to my opinion, India is now in a better position to defend herself.
Options:

1. ¥ According to my opinion

2. % India is row

2. % in a better position

4. ¥ to defend herself
5

. ® Toerror in the senternce

Question Number : 68 Question Type: MCQ
Correct: 2.0 Wrong: 1.0

T AN T o T foed o U 21 & 3R doar dwed @1 e 74

According to my opinion, India is now in a better position to defend herself.
Options:
1. * According to my opinion

. % India is now

z
2. # ina better position
4. ¥ to defend herself
5

. % Mo error in the sentence

Question Number : 69 Question Type: MCQ
Correct: 20 Wrong: 1.0
Find out which part of the senterice below has an error and mark the option accordingly.

Mobody in their senses would have uttered such silly remarks.



Options:

1. ¥ Nobody in their senses
2. % would have

# uttered

# zuch silly remarks

L

#® Mo error in the sentence

Question Number : 69 Question Type: MCQ
Correct: 20 Wrong: 1.0

uaT A T & R fged o U sy § oW aogaw Hwer @t i w0

Mobody in their senses would have uttered such silly remarks.
Options:

1. ¥ Nobody in their senses

% would have

# uttered

% such silly remarks

Mo o

# o error in the sentence

Question Number : 70 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
Fill in1 the blank(s) with the most suitable opticn.

Inn order to maintain good health crne should eat a diet.

Options:

1. % rich

= % spicy

2. ¥ balanced
4. % zalty

5. % good

Question Number : 70 Question Type: MCQ
Correct: 2.0 Wrong: 1.0
eI IULH Toihed & a1 e T2 & 9]

Ir1 order to maintain good health one should eat a diet,

Options:

1. % rich

2. % spicy

2. ¥ balanced
4 * salty

S % good

Question Number : 71 Question Type: MCQ
Correct: 20 Wrong: 1.0



Fill in the blankis) with the most suitable option.

Asaresultof _______ rmany unsuitable candidates were selectad for the posts.
Options:

1. % tolerance

Z ¥ favouritism

2. # humility

4. % yealkness

5. #® termperarment

Question Number : 71 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

eI JUGH ey & T1 W ST & 9]
Asaresultof _______ many unsuitable candidates were selected for the posts.
Options:

1. % tolerance

2. ¥ favouritism
2. % hurrility

4. % yegkness

E. # temnperarment

Question Number : 72 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
Fill in the blank(s) with the most suitable option.

After a recent mild paralytic attack his movernents are _______ restricted, otherwise he 15 still very active.
Options:

1. % entirely

2. % nowhere
3. % not

4. ¥ slightly
5

~ % majorly

Question Number : 72 Question Type: MCQ
Correct: 2.0 Wrong: 1.0
eI IULH Toihed & a1 e T2 & 9]

After a recent mild paralytic attack his movements are _______ restricted, otherwise he is still very active.
Options:

1. * entirely

2. % nowhere
3. ® not

4. ¥ slightly
S ® majorly

Question Number : 73 Question Type: MCQ
Correct : 2.0 Wrong: 1.0



Fill in the blankis) with the most suitable option.

Hestood _______ as a rock and faced the challenge.
Options:
. % quiet

. ® shff

—

z

2. * fragile
4. ¥ firm
5

. % straight

Question Number : 73 Question Type: MCQ
Correct: 20 Wrong: 1.0

e ST Toihed & |1 K &0 & 9]

He stood as a rock and faced the challenge.

Options:

# quiet

% stff

# fragile
¥ firm

#® straight

=

Question Number : 74 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
Fill in the blank(s) with the most suitable option.

Having liveda _______ life for forty vears he is not able to take any independent decisions.
Options:

1. % happy

= % successful

3. % safe

4. ¥ Cloistered

5 % long

Question Number : 74 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

eI JUGH ey & T1 W ST & 9]

Having liveda _______ life for forty vears he is not able to take any independent decisions.
Options:

1. ® happy

2. % successful
3. % gafe
4 ¥ cloistered
E. ® long

Question Number : 75 Question Type: MCQ
Correct: 20 Wrong: 1.0



Find the missing term in the figure given below.

Options:
1. 729
® 18
#® Z43
% 243
® o7

L

Question Number : 75 Question Type: MCQ
Correct: 20 Wrong: 1.0

ter T M o o U @ aaT @

Options:
1.9 729
® 18
#® 343
® 243
® o7

Mok o

Question Number : 76 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
Find the missing term in the figure given below.

Options:

1. % 100
o % oo
3 % 512
4. % 1000
5% 1024

Question Number : 76 Question Type: MCQ



Correct: 20 Wrong: 1.0
et oy w2 | O T T F

r

Options:

1. % 100
o % 256
3 %510
4. ¥ 1000
5 % 1024

Question Number : 77 Question Type: MCQ
Correct: 20 Wrong: 1.0

Find the rmissing term in the figure given below.

Options:

1. % 100
2 % 169
3 % 196
4 ¥ 121
5. % 208

Question Number : 77 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

el Ta M e o T O @ O A

Options:
1. % 100
> % 1549

3 % 1968



4 ¥ 121
c ® 2o

Question Number : 78 Question Type: MCQ
Correct: 20 Wrong: 1.0
Find the missing term in the figure given below.

Question Number : 78 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

34 17
56 (28 |
el Ta M e o T O @ O A 'Mj
Options:
1. % 18
o % 12
z % g
4 ¥ 9
N |

Question Number : 79 Question Type: MCQ
Correct: 20 Wrong: 1.0
Find the missing term in the figure given below.

8 9
16
e 18
32
L 36
Options:
1. % 30
> 9 40
3 ® o4
4 #® 3z

. #® 2p




Question Number : 79 Question Type: MCQ
Correct: 20 Wrong: 1.0

<t T Ty o H g O T uaT )
10
8 9
16 A
L 18 20
32
— 36 — 7
Options:
1. % 20
2 ¥ 40
3% 24
4. % 32
% 20

Question Type: COMPREHENSION
Question Numbers: (80to 82)
REead the following information carefully and answer the questions that follow:

&4F means & 15 B's mother.
A-B means & is B's father.
& B means 4 15 B's brother.
& 1B means & 15 B's Sister.

Sub questions

Question Number : 80 Question Type: MCQ

Correct: 20 Wrong: 1.0

which of the following means ¥ is the uncle of B?

Options:

1. % YHU+Z
z W HY-Z
3% HLU+Y+Z
4. % YHU-Z
E % Y-Z4H|U

Question Number : 81 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
which of the following means Z is grandson of W ?

Options:

1. ¥ W-Y-Z

= B OWIYE

3% WHY-Z+Y

4 F WHTHZ+Y

E® OW-YHIW

Question Number : 82 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

If /W ¥+% -1 Z, then which of the following is incorrect?
Options:

1. # ¥is ¥V's sister



Z % ¥isV's aunt

2. ¥ Wis V's paternal uncle
4. % Wiz Z's father

E. % 1Iis the grandson of ¥

Question Type: COMPREHENSION

Question Numbers: (8310 85)

et FRTET S o & ud offt emiiers wat & 3w &
A+EFTaRf S ir A, B & AT

A-EaFTapf 2T A, B o7 UaT 81

A.B @7 anf 2 &, F &4 21

AJE ®Tanf ¢ F AE #T a5 81

Sub questions

Question Number : 80 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

T & 4 e raea & X, B &7 27

Options:

1. % YHU+Z
= WHUY-7
3% HLU+Y+Z
4 % YHIU-Z
E % Y-Z4H|U

Question Number : 81 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
TieET § & fpewT adad o; 2, W ST 0T 57

Options:

W= -Z
®OWIYZ

B OWAHT-T+V
B OWHYHZHY
S % W-Y+I|W

Question Number : 82 Question Type: MCQ
Correct: 20 Wrong: 1.0
At ¥ W Y+V-UZ, 71 FaeiEs g 9 39 meT 27

Options:

R YHIEETE
® ¥ VETORETE
VWV FTEET S
® v ZgTiETE
® U YFTOETE

N

=

Mo

Question Type: COMPREHENSION

Question Numbers: (83 to 85)

Answer the questions based on the letter sequence given belowe
RCYABMP[ZEMUAETEFI

Sub questions

Question Number : 83 Question Type: MCQ

Correct: 2.0 Wrong: 1.0



How many pairs of letters are present in the sequence, which have as many letters between them in the series
as in the original alphabet series?

Options:
1. % 3
2. %5
3% 1
4 % 2
¥ Q
Question Number : 84 Question Type: MCQ

Correct: 20 Wrong: 1.0
Howr tnany wowels are preceded by a consonant in the given sequence ?

Options:
1.%1
2. % 4
I %2
4 ¥ 3
E %5
Question Number : 85 Question Type: MCQ

Correct: 20 Wrong: 1.0

Find the next term in thegiven sequence:
RCWY, CAM, VMZ, AT,

Options:

1. % AEM
2. % EKT
2% AE]
4
S

. % AET
. % EMU

Question Type: COMPREHENSION
Question Numbers: (86 to 88)

argeir; S Tay T S1a W % THw T wat ¥ e €
RCYAEMPJZKMUAETEFI

Sub questions

Question Number : 83 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

S SAEH H U T S Sig wiegg € T s 39 BT s 8 R 1 aviarer # g 87
Options:

1. %3

2. %K

3% 1

4 % 2

E ¥ E

Question Number : 84 Question Type: MCQ
Correct: 2.0 Wrong: 1.0

e T arg@H H O S v o g e €aul v ge
Options:
1. %1
E !



3. %2
4. 9 3
5. %5

Question Number : 85 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

o M7 arg@y § anTeT Ug g4
RCV, CAM, VMZ, AJU,

Options:
1. % ABM

2. ¥ BKT
3. % AB]
4, % AFRT
5. % KMU

Question Type: COMPREHENSION
Question Numbers: (86 to 88)



A string of words is fed into a computing machine. It processes the input and gives an output in the following
ITIATINET

Input: Honesty is the best policy.

Stepl:is Honesty the best policy

StepZ2:is the Honesty best policy.

Step3iis the best Honesty policy.

Stepd:is the best policy honesty.

Cuatput: 15 the best policy honesty,

Answer the following questions based on the above information.

Sub questions

Question Number : 86 Question Type: MCQ

Correct : 2.0 Wrong: 1.0

If the input is, "A penny saved is a penny earned’, then how many steps will be required to get the output?

Options:
1. % 4
2 %z
2 VB
4 = 7
o= 2

Question Number : 87 Question Type: MCQ
Correct : 2.0 Wrong: 1.0



If the input is, "Drastic Times Call For Drastic Measures". What will be the fifth word in the string be after 4
Steps?

Options:

1. ¥ Drastic
2. % measures
2. % call

4 % for

5. % times

Question Number : 88 Question Type: MCQ
Correct: 20 Wrong: 1.0

The input is,"Flash in the pan". Suppose the final output for this input is again input in the same computing
rrachine. If this is done three timmes in succession, What will be the answer?

Options:

1. * in the pan Flash
2. % the pan Flash in
2. % pan Flash in the
4. % in the Flash pan
5

. * Flash in the pan

Question Type: COMPREHENSION
Question Numbers: (89to 91)
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0% Honesty is the best policy.

IR : is Honesty the best policy.

IR 20 is the Honesty best policy.

@ 2 is the best Honesty policy.

TR IS the best policy Honesty

I is the best policy Honesty |

THH AT & TR O i weat & I )

Sub questions



Question Number : 86 Question Type: MCQ
Correct: 20 Wrong: 1.0
afE s &, “A penny saved is a penny earned”, T ATETYT WTH e 3 (o Fra oort & snaserraT gy

Options:
® 4
® 3
VB
® 7

N

E ® 2

Question Number : 87 Question Type: MCQ

Correct: 20 Wrong: 1.0

afg 29T & "Drastic Times Call For Drastic Measures®, 4 @0l @& o1 ®al %1 Uil Yo FT ZHIT?

Options:

1. % Drastic
Z % Measures
3 % Call

4. % For

5. % Times

Question Number : 88 Question Type: MCQ
Correct: 2.0 Wrong: 1.0

T &, "Flash in the pan”. A #1F0, 597 540 3 oy Sifdw smaeqe uw = et drgfd wefi @1 gy &1 afy s v
T =T oI AT 97 I T 5

Options:

1. % in the pan Flash
2. % the pan Flash in
2. ¥ pan Flash in the
4. % in the Flash pan
E. % Flash in the pan

Question Type: COMPREHENSION
Question Numbers: (89 to 93)



In the following questions the symbols @,#,+, |.& are used with the following meanings:

@Y means K 15 greater than Y.

H#Y means ¥ is either greater than or equal to Y.

A=Y reans ¥ 15 equal to

1Y means ¥ is smaller than ¥

e eans X 1s either smaller than or equal 1o ¥

Answer the following questions based on the above information.

Sub questions

Question Number : 89 Question Type: MCQ

Correct: 20 Wrong: 1.0

Consider the statermnent given below and analyze the conclusions that follows.

Statermment: ASE, E@C, C&D

CornClusions:

[. E&@D

II. &40

which of the Ziven conclusions is/are correct?
Options:



1. % Conclusion I only

2. % Conclusion II only

Z. % Either conclusion I or conclusion I

4. % Neither conclusion I nor conclusion I1

& # Both conclusion [ and conclusion I1

Question Number : 90 Question Type: MCQ
Correct: 20 Wrong: 1.0
Consider the statermnent given below and analyze the conclusions that follows.

Statement: A&E, B=C, C&D

Conclusions:

. E=D

II. BID

which of the given conclusions is/are correct?
Options:

1. # Conclusion I only

2. % Conclusion II only

=, ¥ Either conclusion [ or conclusion II

4. % Neither conclusion I nor conclusion 11

5. % Both conclusion I and conclusion 11

Question Number : 91 Question Type: MCQ
Correct : 2.0 Wrong: 1.0



Consider the staterment given below and analveze the conclusions that follows.

Staternent: J&K, K#L, LM
Conclusions:
[ K@M

II. J&M

which of the given conclusions isare correct?
Options:

1. # Cnly conclusion I is true

Z % Only conclusion I IS true

3. % Either [ or I1 is true.

4. % HMeither I nor II is true

C. % Both [ and Il is true

Question Number : 92 Question Type: MCQ
Correct : 2.0 Wrong: 1.0



Consider the staterment given below and analveze the conclusions that follows.

Staternent: WEX, X#Y, Y#IZ
Conclusions:
[ W=2Z

II. W@Z

which of the given conclusions isare correct?
Options:

1. # Cnly conclusion I is true

Z ¥ Cnly conclusion I1 IS true

3. % Either [ or I1 is true.

4. # PMeither I nor II is true

C. % Both [ and Il is true

Question Number : 93 Question Type: MCQ
Correct : 2.0 Wrong: 1.0



Consider the staterment given below and analveze the conclusions that follows.

Staternent: P#FQ, P=R, OQ#S

COnClusions:

I 5&F

II. Q&R

which of the given conclusions isare correct?
Options:

1. % Cnly conclusion I is true

#* COnly conclusion II [5 true

# FEither [ or Il is true.

# Meither [ nor II is true

% Both I and II is true

Mok

Question Type: COMPREHENSION
Question Numbers: (94 to 98)
afere; Taited wadt # Ul @, #, + /& 7 gieras a7t & ey ueii e T 8
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Sub questions
Question Number : 89 Question Type: MCQ
Correct : 2.0 Wrong: 1.0



et Tar T s oE e @ T Ieer are, Tar M Tt w e

T, AGE, B@C, C&D
T

1. B&D

11 &4(D

T e T TaaTe oY IE Wi g AT Temarat
T T

T, A&E, B@C, C@D

o

1. B&D

II. 4(D

[CURIMAE Iz a R e K R E LT
Options:

1. & T fomemd [

2. % Tany femed 11

3. % gyt oy [ A7 T 11

4, % TF7 w9 5T A 11

C % Ty | oW T [ 241

Question Number : 90 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
et Tar T @ U o @ A FEer are, T M et T e

weH. 4@B, B=C, C&D
e

1. B=D

II. B{D

fary Ty Foreet & & e @ R agt 27
Options:
. ® T fememd [

1
2 % T Temed 1]

2. ¥ o7 T Tomerd [ T T 11
4. % J7 T [ 7 21 T 11

S ® Tmed ] oW e 11 et

Question Number : 91 Question Type: MCQ
Correct: 20 Wrong: 1.0
et Tar T s UE e @ A FEer ane, fa T et T e

T, J&K, K#L, LM
Teymep;

1. KeM

II. J@M

[CURIMAE Iz a R e K R E LT
Options:

1. % T fomemd [

2. % Tany femed 11

3. % gyt oy [ A7 T 11

4. & TF7 AmaEy [ 95T T 11

C % Ty oW e [ 2Ef

Question Number : 92 Question Type: MCQ
Correct : 2.0 Wrong: 1.0



et Tar T s oE e @ T Ieer are, Tar M Tt w e

T WEH, K#Y, YH#I
[BATS

I W=Z

II. WeZ

o T Temet | & @i AT e |5t e
Options:

1. % & fomed |

o, & T Tomepd 11

3. % 7T e [ 7 T 11

4. % J7 T [ 7 21 T 11

S ® Tmed ] oW e 11 et

Question Number : 93 Question Type: MCQ
Correct: 20 Wrong: 1.0
et Ter T s ue e @ A Feer ane, fe M femert @ e

T P#0), P=R, O#%
e

[ 5&F
II. Q&R

[CURIMAE Iz a R e K R E LT
Options:

1. & T fomemd [

2. % Tany femed 11

3. % gyt oy [ A7 T 11

4, % TF7 w9 5T A 11

5. % fowed | o T 11 et

Question Type: COMPREHENSION
Question Numbers: (94 to 97)

A& radio station conducted a survey to find out the preference of its listeners, The result of the survey was as
followes:

A total of 115 listeners liked Rock rmusic, 120 liked Jazz, while 145 people like listening to classical music.
Arnong these, 54 listeners liked cnly roclk and Jazz rmuasic, 25 liked listening o only rock rmmsic and classical,
while 11 liked only classical and jazz. There were 25 listeners who liked all three types of music. 4 total of 250
people were surveyed.

Sub questions

Question Number : 94 Question Type: MCQ

Correct: 20 Wrong: 1.0

How many listeners liked at least two forms of music 7

Options:

1. % 120
2. % 100
=% 111
4 % 115
. ¥ 125

Question Number : 95 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
How many people surveyved did not like listening to any of the three forms of music?



Options:
1. % 25

2. % 125
3. % 130
4 ¥ 10
5 % 17

Question Number : 96 Question Type: MCQ
Correct: 20 Wrong: 1.0
Howr tany listeners lilkeed Rock music only 7

% 25

Question Number : 97 Question Type: MCQ
Correct: 20 Wrong: 1.0

Howr miany listeners liked classical or Jazz but not rock music 7
Options:

1.% 11

2 ¥ 115
2% 104
4. % 1E0
E % 131

Question Type: COMPREHENSION
Question Numbers: (98 to 101)
AJeig; UF (S ar €64 = S ATaTe 1 U6 T UaT A o TN U e ST S w8 @ T T o
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Sub questions

Question Number : 94 Question Type: MCQ
Correct: 2.0 Wrong: 1.0

Tl SATaTel = g e @ 9ritg aeg e

Options:

1. % 120
2. % 100
=% 111
4 % 115

5 ¥ 125

Question Number : 95 Question Type: MCQ
Correct: 20 Wrong: 1.0
el ey T FEae A it o 4 et § | Rt w ot gee veg gl e

Options:
1. % 25

2. % 125



2 ¥ 130

4 ¥ 10

S ¥ 17

Question Number : 96 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

e sqtaratt = fd 1T it ueg T
Options:

1. % g

2 ¥ 11

3 %18

4 % 21

S ® og

Question Number : 97 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

e SATTSI = AT 2T A ST THe, [T sl T1F ST UHg, 51 e
Options:

1. % 11

2 ¥ 115

2 % 104

4 % 150

% 131

Question Type: COMPREHENSION
Question Numbers: (98 to 101)
Study the table given below and answer the questions that follow.

Sector MNo. of Males No. of Females

Voluntary Work 41,000 68,000
IT 1,21,000 1,07,000
Engineering 3,98,000 1,05,000
Legal Services 2,773,000 2,551,000
Healthcare 2,27,000 2, 71,000
Business Services 1,.86,000 124,000
Self employed 45,000 62,000
Unemployed 52,000 43,000
Sub questions

Question Number : 98 Question Type: MCQ
Correct: 2.0 Wrong: 1.0
Wwhat percentage [approxirmately) of people sampled are unemployed?

Options:
1.9 4%
o % oy
% % gy
4 % 7y
5. % 8%

Question Number : 99 Question Type: MCQ
Correct : 2.0 Wrong: 1.0



What is the ratio of fermales to males emploared in Business services?y
Options:

1. %$5:3

o %201

v 2.3
4 ¥ 54
%12
Question Number : 100 Question Type: MCQ

Correct : 2.0 Wrong: 1.0
In1 which sector employed males are highest?

Options:

1. ® voluntary Work
2 BT

=. ¥ Engineering

4. % Legal Services

5. # Healthcare

Question Number : 101 Question Type: MCQ
Correct: 20 Wrong: 1.0
In which sector employed females are lowest?

Options:

1. ® Legal Services

2. % Health Care

Z. % Business Services
4. ¥ 5elf Employed

S ® 0T

Question Type: COMPREHENSION
Question Numbers: (102 to 105)
e, i of IS FTieTehT 9T STEe @ AT Tgierd mat F F

Sector/&TH No. of Males/JE8I hI HEAT  No. of Females/AToal3l i a&am

Voluntary WorkFaiadl & 41,000 68,000
I'I‘BTlgﬂ [ﬁ?ﬂ'{ miﬁ}‘] 1,21,000 1,077,000
Enginee riugr‘?';‘_:nﬁ?lﬁ_ﬂ' 3,98,000 105,000
Legal Services/TaI TS darg 1,73,000 2,51,000
Healthcare/ TAEZT CEATA 2,27,000 2,71,000
Business Services/caMH{d Tamd 1,586,000 1,24.000
Self employed AR TSI 45,000 62,000
Unemploy ed @19 52,000 43,000
&
Sub questions

Question Number : 98 Question Type: MCQ
Correct: 20 Wrong: 1.0

Tea=T UTchard (FATET) FT SR 27
Options:

1.9 4%

> ® oy




3 ¥ g%
4. % 7%
5 ¥ 8%
Question Number : 99 Question Type: MCQ

Correct : 2.0 Wrong: 1.0

ST TSramhent § T Aigerrat’ s gout &7 SuTd Thar g7
Options:

1. %$5:3

2 %201
3 v 23
4 ®#5:4
c ®1:2
Question Number : 100 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

o g o T gt @ EeT gae arte 57
Options:

1. ® wezwet o

2 % gmier

3. ¥ gt

4. % fEtEe gamg

5. ® T SETe

Question Number : 101 Question Type: MCQ

Correct : 2.0 Wrong: 1.0
T &fF o T AfgmTel @ S qae @ 27

Options:

1. % 13t g
o, % TaTes SET
3. % camTiver dem
4. & T

S % amger

Question Type: COMPREHENSION

Question Numbers: (102 to 105)

A company ABC Ltd. 15 into the business of selling personal computers. The refunds that it has to make to its
customers, on account of various faults are givernl in the table below,

Refund Cause This Year Last Year
Faulty Software 27% 32%
Faulty Hardware 48% 41%
Delivery Damage 9.50% B%

False Advertisement 1.50% 1%
Customer Service 12% 15%
Other 2% 3%

Sub questions

Question Number : 102 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

If total refunds last year totalled 912 and this year saw a 20% increase in the number of refunds, then how
many refunds @approximately) were issued this year due to delivery darmage?



Options:

1. % 1040
2. ¥ 104
3 % 124
4 % 102

S ® gz0

Question Number : 103 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
If total refunds totalled €12 last year and £15 this year, then what is the decrease in faulty hardware refunds?

Options:

1. % 28%

o % 3366%
3 ¥ 42 33%
4. % 795

5 # g93%

Question Number : 104 Question Type: MCQ
Correct: 20 Wrong: 1.0
If the total sales done this year were 1024, then what was the number of refunds done due to faulty hardware?

Options:

#® 400
® 450
#® 491
® 512

W e

S % Cannot be determined

Question Number : 105 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
In which of the following faults the significant reduction occurred in terms of refund?

Options:

1. % Faulty Hardware

2. % Delivery Damage

3. % False Advertiserment
4. ¥ Customer Service

S #® Cannot be determined

Question Type: COMPREHENSION
Question Numbers: (106 to 109)

e UF FU-T Taral (ABC) Tfaes wdae Fegee sue & saara | 1 i gieat o oo godr gny s Tigst &t &e S
ATAT T emiere aTfereT | &f T2 )

Refund Cause/ST-aTU=HT &1 HIOT This Year/SO a4  Last Year/Uaerad

Faulty Software/dI¥cddy A GIY 27% 32%

Faulty Hardware SIS0 31 &1¥ 48% 41%
Delivery Damage/fSeflad{l # &rfa 9.50% 8%
False Advertisement/3dcd fa=Ta=1 1.50% 1%

Customer Service/dTgdh JdT 12% 15%
Other/A=d 2% 3%




Sub questions
Question Number : 102 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

T oot @ Wwe IT dlleTs S ot T 7 Fa THRETT 912 2T 3% 56 oy 3-0 T §ear § 20% 5 ag ) o@f T8 J1 iSaiadl
HTE & BT T A TR S (AT A e T

Options:
1. % 1040
2 ¥ 104
3% 124
4 % 102
5. % 920

Question Number : 103 Question Type: MCQ
Correct: 20 Wrong: 1.0
4t Fbst w7 et wierm fioe ad 912 R sa oy 615 g, 71 @0d gleder Whe | -t fime amg 27

Options:

1. % 28%

2. ® 33.66%
3. ¥ 42 33%
4 ® 79%

5. % 93%

Question Number : 104 Question Type: MCQ
Correct: 20 Wrong: 1.0
4T 58 oy 1 108 Telfekail T et UIATT 1024 A7 97 WX §IS el ae o 0T T T [Cha T i Hea T 2t

Options:

® 400

# 450

® 491

® 51z

. & Terfieg Ag1 o =7 |eFar

Question Number : 105 Question Type: MCQ

Correct : 2.0 Wrong: 1.0

FrgTaried & & oy el # ferb 7 gt & mgeanyrt et 7 0
Options:

R sEdmw H g

® TEefter # i

® ey e

. TTEE T

% Toerffer =gt T A7 |y

e e

—

oA W

Question Type: COMPREHENSION
Question Numbers: (106 to 108)



Study the pie-charts given below and answer the questions that follow.

Work distribution of an IT department

B User Authorisation
H Reporting

i Online Help

E Compliance

H CICS integration

Sub questions

Question Number : 106 Question Type: MCQ

Correct : 2.0 Wrong: 1.0

Wwhat is the ratio of work done by CICS integration to that done by Compliance?

Options:

1. %4:1

2 ¥5:1

z % 1:4

4 ® 1:5

5. % Cannot be determined

Question Number : 107 Question Type: MCQ
Correct: 20 Wrong: 1.0
Which of the two activities consume samre arnount of time?

Options:

1. ¥ Cnline Help and Compliance

2. ¥ Online Help and User authorization
Z. % Online help and reporting

4. % Compliance and CICS integration.

5 # Cannot be deterrmined

Question Number : 108 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

If the IT department works 172 man hours a weelk, then what is the total nurmber of man hours sperit on
reporting and onling help?

Options:

1. % 4324
= ¥ SR 48
3 % 5178
4 ® 7523
5. % 8155

Question Type: COMPREHENSION
Question Numbers: (109 to 111)



et i Tom Ty o = T anemee o ol TR wat 3 9ee )

Work distribution of an IT department

=Y famer &1 +1a faqaor

M User Authorisation  WATRT s

# Reporting uﬁlﬁa:—r (ﬁtﬁﬁ'ﬂ}
i Online Help HiTers=T Herdn
H Compliance Ha'l:ﬂt_?l-._-l'

8 CICS integration Hiamsdnrg vdhigtor

Sub questions
Question Number : 106 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

HraTEETd TR 5T ST g TRy T w wr SrguT e 27
Options:

1. % 4:1

2 ¥5:1

3 % 1:4

4 % 1:5

5. ® it AgT T = a@ar

Question Number : 107 Question Type: MCQ

Correct : 2.0 Wrong: 1.0
e # & T e # U siTe) 9/ aiar 57

Options:

1. % SITHATE- AR i ST

2. ¥ TAATET AETHaT T Ui WTTere
3. ® AR Gy’ ST nidded

4 % gUTA ST HTEE I e T
5. % Tt Agt T = a@war

Question Number : 108 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

At ATEET T |HTg 172 T W0 ®4dT & af idda H AHdATST Gg1odl W Fd d- ¢ HTH Ty M7 87
Options:

1. % 4324

2 ¥ 5E.48

3. % 51.78

4 % 7523

. ® 5155

Question Type: COMPREHENSION
Question Numbers: (109 to 112)



Study the following bar graph that illustrates the value of Gold present with Reserve bank of India (in million
Rupees) from the year 2001-02 to 2008 - 09 and answer the questions that follow.

Gold present with Reserve bank of India (in million Rupees)

6000

5000

4000

3000
2000

5040
4320
3720
e 3120 3120
) I ) i i [
a |||| T T |||| T T T T T

1000
2001-02 2002-03 2003-04 2004 -05 2005-06 2006-07 2007 -08 2008 -09

Sub questions
Question Number : 109 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

Zalculate the ratio of the number of vears, in which the value of Gold present with Reserve bank of India is
abowe the average value, to those in which the value of Gold present with Reserve bank of India is below the
average value.

Options:

1. ®¥g:7
2 ¥ 3.
3 %2
4 % 2.
5 %5
Question Number : 110 Question Type: MCQ

Correct : 2.0 Wrong: 1.0

The walue of Gold present with Reserve bank of India in 2007-08 was how many times that of the value of
Gold present with Reserve bank of India in 2004-057

Options:
1.¥15
o %21
3 % 209
4 % 31

5 ® 473

Question Number : 111 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

Specify the particular vear, in which the percentage increase of the value of Gold present with Reserve bank of
India over the previous vear is the highest.

Options:

1.9 2002- 03

= % 2004 - 05

3 % 2007- 08

4. % 2008- 08

5. ® Cannot be determinecd

=
7
=
7



Question Number : 112 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

The walue of Gold present with Reserve bank of India in 2006 - 07 was approximately what percent of the
average value of Gold present with Reserve bank of India owver all the years given in the diagram?

Options:
1. % goy

2. % 50%
3 % 75y
4 % 110%
5 ¥ 125 %

Question Type: COMPREHENSION
Question Numbers: (113 to 116)

arfete; TRITET S8 oTeRE @7 eiga= @ A1 a8 2001-02 § 2008-09 ¥ Fig IR fod 5% # Iuer=e Tauf ge (Aferae
w0 H) T TariaT AT
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Gold present with Reserve bank of India (in million Rupees)
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Sub questions

Question Number : 109 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

Options:
1. % 6:
2. ¥ 3

7
=
3 % 2.7
=
7

4 % 2
5 %5
Question Number : 110 Question Type: MCQ

Correct : 2.0 Wrong: 1.0

2007-08 # ARd T = «fF & U6 Big 9 #1 8rg 2004-05 § a7 1 166 o o 0 g a1 @ Jod & TaeT 141 arfeer
977

Options:
1.¥15

o %o
. %29



4 ® 31

o ® 453

Question Number : 111 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
39 T 1 A AT, T fowe o i geen 8 aRd o et s o o Hig | e | B Wi Jh ded ST g

Options:

1.9 2002- 03

2. % 2004 - 05

3. % 2007- 08

4. % 2008- 09

5. ® it AgT T = a@ar

Question Number : 112 Question Type: MCQ

Correct: 20 Wrong: 1.0

2006 - 07 H IR o o & Uy Aieg, 91 @1 Org waiea § o my @t aut & ard = fod o & o gg | & oi|T
Tl Tl ST Teheel AT Wi 2 477

Options:

1. % 329
2 % 50%
3. % 7oy
4 % 110%
5. ¥ 125%

Question Type: COMPREHENSION

Question Numbers: (113 to 114)

Study the following table that illustrates the average irmrmigration {egal and illegal) in absolute numbers for a
courntry and answer the questions that follow.

Average Annual Immigration (legal and illegal)

1965 - 70 3,00,000
1970 - 75 4,00,000
1975 - 80 7,00,000
1080 - 85 9,00,000
1985 - 90 9,00,000
1990 - 95 13,00,000
1095 - 00 14,00,000
2000 - 05 18,00,000
2005 - 10 15,00,000
Sub questions

Question Number : 113 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
Inn which two set of & vears the average immmigration rate has remained constant?

Options:

1. % 1965-70, 1970-75
= ¥ 1975 -B0, 1980 -85
3. % 1970 -75, 1980-85
4. % 1980-85, 1985-90

5. % 2000 -05, 2005 -10
Question Number : 114 Question Type: MCQ



Correct: 20 Wrong: 1.0

which is the only period of 5 years where the average annual inmmigration has fallen over the previous period
of & vears?

Options:

1.9 2005 -10
= % 2000 -05
3. % 1995 -00
4, % 1975 -80
5. % 1965 -70

Question Type: COMPREHENSION
Question Numbers: (115to 116)

eﬂrﬁ%—c[: TerTera aTieienT T STz @é ST et 3o 3 ofed sieraeT (2 Ug arden @ fowty et # garfar & ofi Tmiiera weat &
I

Average Annual Immigration (legal and illezal)

3 arfdis srvara= (@ 3R AxwEE)

1965-70 3.00,000
1970-75 4.00,000
1975-80 7,00,000
1980-85 9.00,000
1985-90 0.00,000
1990-95 13,00,000
1995-00 14,00,000
2000-05 18,00,000
2005-10 15,00,000
Sub questions

Question Number : 113 Question Type: MCQ
Correct: 20 Wrong: 1.0

S =T o T 3 SHgT H, S STiETad of RN 1T 87
Options:

1. ¥ 1965-70, 1970-75

= % 1975 -B0, 1980 -85

2. % 1970 -75, 1980-85

4 ® 1980-85, 1985-90

5. % 2000 -05, 2005 -10

Question Number : 114 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
S T @ oF W A THHS SIaTE s A5l S aut B U Te e B ot § T ardd a8 TRiEe 6T 87

Options:

1.9 2005 -10
® 2000 -05
# 1995 -00
® 1975 -80
#® 1965 -70

L

Question Type: COMPREHENSION
Question Numbers: (115to 117)



Study the following bar graph that illustrates the sales of dogs (in thousand numbers) for six breeds - Borzo,
Corso, Terrier, Chinook, Dogo and Spitz in 2012 and 20132 and answer the questions that follow.

Sales of dogs (in thousand numbers) for six
breeds
120
105 110
100 95 2 95 95
B0 B0
75 75
20
&5 i
&0 2012
W 2013
440
20
a
Borzoi Corso Terrier Chinook Dogo Spitz
Sub questions

Question Number : 115 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

Zalculate the ratio of the total sales of breed "Corso” for years 2012 and 2013 to the total sales of breed
“Chinook” for vears 2012 and 2013,

Options:
1. %6:7
2 ¥ 5.7
3 % 9.7
4 ¥ 7.9
%59
Question Number : 116 Question Type: MCQ

Correct : 2.0 Wrong: 1.0

Total sales of breed "Spitz" for years 2012 and 2013 is what percentage of the total sales of breed "Terrier” for
years 2012 and 2013 (rounded off to nearest percentage)?

Options:

1. #¥ 59y
o % g4y
3 % 71w
4 ¥ 73%

. ® g2y

Question Number : 117 Question Type: MCQ
Correct: 20 Wrong: 1.0

The total sale of breeds "Borzoi”, "Terrier” and "Dogo” together for the vears 2012 and 20132 (in thousand
ruImnbers) is:

Options:
1. % 5z

2. ¥ 560
3. % g50
4. % g70
5. % 7E0



Question Type : COMPREHENSION

Question Numbers: (118 to 120)

argede; THaTied o2 aTeiE o arE @ A gy 2012 0F 2013 § o5 9FA1 - dAe, FE, (e, o, ST o g & e
(AT ATt /) 1 gaiar & o =g nat & 39w &)

Sales of dogs [in thousand numbers)for six breeds

B: el & il bl Tl (FoR #)
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Sub questions

Question Number : 115 Question Type: MCQ

Correct : 2.0 Wrong: 1.0

a8 2012 R 2013 & oy “wiEr o e Tt & gt ferht @7 argurd e

Options:
1. %67
2 ® 5.7
3 % 9.7
9
9

4 ¥ 7

5 %5

Question Number : 116 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

T4 2012 #2013 & oy T 7 &1 gl Telhl o 2012 oW 2013 & Ay e 9 & gt T @7 Teraar wid ey
(TereaH nidaT o) 57

Options:
1. % 59%

o B g4y
3 ® 71%
4 o 73%

5 # 52w

Question Number : 117 Question Type: MCQ
Correct: 20 Wrong: 1.0
T 2012 &t 2013 & oy "aie’, " ot "2 Teat & g o G 8 &

Options:
1. % 520

2. ¥ 560
3. % g50
4. % G570
5. % 760

Question Type: COMPREHENSION
Question Numbers: (118 to 122)



Read the following information carefully and answer the questions that are given below it:

In a group of five persons Anshilka, Brijesh, Chandni, Dheeraj and Ekansh.
11 Brijesh and Chandni are intelligent in English and Physics.

21 Anshila and Chandrni are intelligent in English and Chemustry.

31 Brijesh and Dheeraj are intelligent in Mathematics and Physics.

41 Dheeraj and Eleansh are intelligent in Mathermatics and Biology.

51 Ekansh is intelligent in Biology, Chermistry and Mathernatics.

Sub questions

Question Number : 118 Question Type: MCQ

Correct: 20 Wrong: 1.0

Who is intelligent in Mathermatics, Physics and Biology?

Options:

1. * Ekansh

2. ¥ Dheeraj
2 % Chandni
4. % Erijesh

E % Anshika

Question Number : 119 Question Type: MCQ
Correct: 20 Wrong: 1.0
Who 15 intelligent in English, Mathermnatics and Physics?

Options:

1. ® Anshika
= % Erijesh

3 ® Chandni
4. % Dheeraj

L. ® Ekansh

Question Number : 120 Question Type: MCQ
Correct: 2.0 Wrong: 1.0
Who i3 intelligent in English and Cherristry but not in Physics?

Options:
1. * Chandni
2. % Ekansh
3. ¥ Anshika
4. % Erijesh
L. ® Dheeraj

Question Number : 121 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
Who 15 intelligent in English, Physics and Chermistry’y

Options:
1. ® Ekansh

2. % Anshika

2. % Dheeraj

4. % Chandni

E. % Erijesh

Question Number : 122 Question Type: MCQ

Correct: 20 Wrong: 1.0
Who 15 intelligent in Mathermatics, Chermstry and Biology?

Options:
1. #® Anshika



2. % Erijesh
2. % Chandni
4. ¥ Ekansh
E. % Dheeraj

Question Type: COMPREHENSION
Question Numbers: (123 to 127)

argeie; THafaT St ot anaeide ud et S R m wet ¥ 3e

T el SR, e, e, it ua g & aqg o
(1) Teretar 37T TTaAT ST T Miidd Bem o 4= 2

(2) T o TieT T & e Hae # 3 8

() Teratar &% effesr T ofl fiiadt e | a7 )

() oo 2 UaTar 0T 92 A Ta-Taa | 31 21

(S) TS Sa-Taame, T Ba i iva # 3= 8

Sub questions

Question Number : 118 Question Type: MCQ
Correct: 20 Wrong: 1.0

T, ifd® e v g e g a8

Options:
1. % e

2 o i

3 % g

4 % feetar

5. % aifdmm

Question Number : 119 Question Type: MCQ

Correct : 2.0 Wrong: 1.0
ST, T oY ifdw TAm d # a8

Options:
% 5if
VTt
% i
® effeT
5. %
Question Number : 120 Question Type: MCQ

Correct : 2.0 Wrong: 1.0
T Tt it T R # de 2 Sl it e i

Options:
® oo
# et
- FiCa
® fertar
S ® e
Question Number : 121 Question Type: MCQ

Correct: 20 Wrong: 1.0
ST, Afd® A ot e T A e dT 27

Options:
1. % g
2, % sffier

N B

N




2 % i
4. & FigHAT
5 % et

Question Number : 122 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
T, AT o ST Hid® Sem H e da e

Options:

1. % affdm
® fgetar

% it
W T
® offee

Mok

Question Type: COMPREHENSION
Question Numbers: (123 to 127)
Eead the following information carefully and answer the questions that are given belowr it:

Kinshuk is the brother of ¥avier. Zaarun is the son of Xavier. Prince, the daughter of Kinshulk, is married to
Mikhil. Gayatri and Xavier are sisters.

Sub questions

Question Number : 123 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

Howr 15 Prince related 1o Gayatriy

Options:

1. ¥ Niece

2. ® Daughter

2. % Daughter-in-law
4. % Cousin

5. % Nephew

Question Number : 124 Question Type: MCQ
Correct: 20 Wrong: 1.0
Howr 15 Zaarun related to Prince?

Options:
1. % Maternal uncle
Z. % 1ncle

2. ¥ Cousin

4. # Father

5. % Som

Question Number : 125 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
Howr 15 Mikhil related to Kinshulk?

Options:

1. ® Son

= % Nephew

3. % Father-in-law
4. % Son-in-law
5. % Brother

Question Number : 126 Question Type: MCQ
Correct: 2.0 Wrong: 1.0



How is Zaarun related to Kinshulk?
Options:

1. % Husband

2 % Som

2. ¥ INephew

4. % Uncle

5. % Father

Question Number : 127 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
Howr is Gavatri related to Zaarun’

Options:

1. % Sister

2. % Wwife

3.9 Aunt

4. % Mother-in-law
5. % DNiece

Question Type : COMPREHENSION
Question Numbers: (128 to 132)
Hfeig: AT ST 1 AT e ud o7 =i far mr net & 3o &

Sub questions

Question Number : 123 Question Type: MCQ
Correct: 20 Wrong: 1.0

TORT T TITrET o AT T T 27

Options:

R ricll

® 3%

*

S % st

Question Number : 124 Question Type: MCQ

Correct : 2.0 Wrong: 1.0

Options:

e

.L:L:il\:l:l—l
v
E

5 % g

Question Number : 125 Question Type: MCQ
Correct: 2.0 Wrong: 1.0

e T Tl @ AT a4 A Y

Options:

1. % ger
2 % syt
3 % Hge



4 ¥ TS
S ® oqE
Question Number : 126 Question Type: MCQ

Correct : 2.0 Wrong: 1.0

Options:

® gig

® o

W i

% =T

E ® fugT

Question Number : 127 Question Type: MCQ

Correct: 20 Wrong: 1.0

Options:
1. % w&gd
® gaEr
- TR
® o
® i

N

Mok

Question Type: COMPREHENSION
Question Numbers: (128 to 130)
Fead the following information carefully and answer the questions that are given belowr it:

There are six persons X, ¥, Z, P, Qand R in a family. Z is the sister of B. ¥ is the brother of Q's husband. F is
the father of ¥ and grandfather of E. There are 2 fathers, 3 brothers and a rmother in the group.

Sub questions

Question Number : 128 Question Type: MCQ
Correct: 2.0 Wrong: 1.0

which of the following is a group of brothers?

Options:

1. % ¥¥Z

2. % HYP

2. ¥ EYR

4. % YPR

E. % YOR

Question Number : 129 Question Type: MCQ

Correct: 20 Wrong: 1.0
Who is 's husband?

Options:
=y
= P
VT H
= R
E w0
Question Number : 130 Question Type: MCQ

Correct: 20 Wrong: 1.0
Who 15 the mother?

N



Options:
1. % ¥
2. %y
3.¥ O
4 % P
5% R

Question Type: COMPREHENSION
Question Numbers: (131 to 133)

e AT T @ ATt we 3t e for my wet & 3u &

e TiteTe H 9 a4 XY, LP AN QI Z, R BT aRa 81 Y, Q W uid @7 ATE 81 P, X o 097 gd R % g1ET 8 Wi H 2 f0d, 3 g
0 O A 8

Sub questions
Question Number : 128 Question Type: MCQ
Correct: 2.0 Wrong: 1.0

TRt # & F1 gt @ Uw w87
Options:

1. % ¥¥Z

2. % HYP

3. ¥ YR

4 % YPR

5. % YOR

Question Number : 129 Question Type: MCQ

Correct: 20 Wrong: 1.0
O TR A 2

Options:

1. %Y

2 %P

3V

4 % R

EwQ

Question Number : 130 Question Type: MCQ
Correct: 20 Wrong: 1.0
T

Options:

1. % ¥

2. %Y

3V 0

4 % P

E %R

Question Number : 131 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
* EITET T ATA &



Options:

1. % et
2 & Fer
z. % aifar
4 ® M

5. % s H AP gl

Question Number : 131 Question Type: MCQ
Correct: 20 Wrong: 1.0

 ETAT FTHIAA &

Options:

1. % g

2 & e

3. % fEy

4 % ame

5 % Tt FE A

Question Number : 132 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

Options:

1. % far

2 % TREEAT

3. ¥ TR

4. % T

5. % g o g

Question Number : 132 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

Options:

1. % Tiar

2 % TRHTAT

3. ¢ TR

4 % TmamET

S % g H A wE ARl

Question Number : 133 Question Type: MCQ
Correct: 20 Wrong: 1.0

g W AR

Options:

1. % ﬁgﬁf

2. % ZrIEl uE AT

s % g

4. ¥ Ugel Ut o T 51 ST 08 8T ATET e =Tl 7S
S R g HEFE A5l

Question Number : 133 Question Type: MCQ



Correct: 20 Wrong: 1.0

‘gl T SRI

Options:

1% ﬁ(gq

2. % ZrAEl U AT

3 % g

4, et el 3 Ryei 21 R o gy A o e W
S % s d gmig g

Question Number : 134 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

T TR B

Options:

1. %

2 ¥ 3|

3 % dig

4 % fgrE

5. % g o g

Question Number : 134 Question Type: MCQ
Correct: 2.0 Wrong: 1.0

BECINEILE

Options:

1. % a1

2 ¥ 34

= ® iz

4 % T

S ® g R d @ g

Question Number : 135 Question Type: MCQ

Correct: 20 Wrong: 1.0
TR AT FET W HIA &

Options:

1. % grgca

2. ¥ g

= % e

4, ¥ UF F2T, TR, IS HT
c ¥ mHgFE Tl

Question Number : 135 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

*ETET AT AT T HAA B
Options:

1. % gEra

2 % =g

3. ® arETET

4. & U 921, TEE, WS 5
S % s H A EE A5l



Question Number : 136 Question Type: MCQ
Correct: 20 Wrong: 1.0

g Wegd YT Teg HHE

Options:

1. % =gr

2 % OgT

=« TR

4, % 93g7

S ® AU E R A8l

Question Number : 136 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

g7 Uead T g HH

Options:

1. % agr

2 % Ogr

= o ThmET

4 % 93gT

5 % g d @ FIE A

Question Number : 137 Question Type: MCQ

Correct : 2.0 Wrong: 1.0

“ SO T A ATST oM Tel T AT T 7 B T T Haad &
Options:

1. % mdt

o ¥ AT

3 % ggEH
4 % mmr

S % g H AL gl

Question Number : 137 Question Type: MCQ

Correct: 20 Wrong: 1.0

“ U ST /TS A Tel  WaT Wl 2§ WaT ST Haod &
Options:

1. % ot

o o

3 % gEa
4 % @I

5 ® Tt @ wE A

Question Number : 138 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

* AT AT gRTad wmT e

Options:

1. % 9 el 5T

o % T "gAr

3. o OiaET EgAT



4 % FAEET
5. % s H AP gl

Question Number : 138 Question Type: MCQ
Correct: 20 Wrong: 1.0

* AT ST qRTa w A

Options:

1. % e Fell g7

2 % mF @gAr

3. ¥ UEET 8T

4 % fwEEm

5 % g AFE T

Question Number : 139 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

‘GECH ... Wk O g g ST P M f
Options:

1. % F1=

2 % gm

3. o @

4 % gt

S ® AU FE TRl

Question Number : 139 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

‘AT Y. TR O U S W e §
Options:

1. % F1=

o % gm

= o W

4 % gt

S % g H A PE ARl

Question Number : 140 Question Type: MCQ
Correct: 20 Wrong: 1.0

e gEHT gETN T HaA B
Options:

1. % cIgdr a9 S
2. ¥ T T
3 % grufer

4. % T AT

5 % Tt wE s

Question Number : 140 Question Type: MCQ
Correct: 2.0 Wrong: 1.0

‘e @ gETN B HdAd &
Options:
1. % gy g =T



2. ¥ T AT

3. % gz uiear

4. % Tt wEr

G % e H G FE Tl

Question Number : 141 Question Type: MCQ
Correct: 20 Wrong: 1.0

TafeRaT geree =7 @at arf o 22

AT FTE A H TITE TRl gl

Options:

1. ¥ Ft q/Fday AT & I9T & g9 AWAT U=4T 5
2. ¥ Az W F T FST mEE wA gSAT |

3. % gm A AN UF GRT Ed B

4 ® St gg AT § IAF o A IEET g

5. ¥ A e gt

Question Number : 141 Question Type: MCQ
Correct: 2.0 Wrong: 1.0

TrafafaT geret =1 wer anf 87

" ST =Te & T Sl gardl

Options:

1. % Jf IFdaY 5T & IHT @ &d HEAT 984T 5
o ¥ g oW F WU IS nae @eAT UEaT &

% % gm A AN UF ART e E

4 % It gg eRET § IAF o A4 SRS g

S ® g H g FE A8l

Question Number : 142 Question Type: MCQ
Correct: 20 Wrong: 1.0

TrafeRT geTay @7 wet af g &7

T T & FTAT AR T aAd

Options:

1. % Ft =T 9ed § F TF W Rl g
2. % w1 @ & T80 Agad w BT uEd T B
3. % I FHMET AT AR g

4 & ToaE o nead T SE el # EET e

S % s H A EE A5l

Question Number : 142 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

T gerat @7 @gr s T &7

" BRI | JIAT 5] sad 1
Options:



1. % St wamer @it 2 O FF @ 8l B
2. % TH e o Toly HEe el BT el §
3. % O FHMET ST AR g

4 ¥ A A Ed T gH gl I EET

S ¥ sqd i agt

Question Number : 143 Question Type: MCQ
Correct: 2.0 Wrong: 1.0

TerafetaT garat @1 ot o g2
"SI U S AT S AT

Options:

1. & 597w T dET Gl T
> % e e gt & 21 i A e #
3 8 o oK i A WA A g
4 % T oW ATHERT i S §
S ® AU E R A8l

Question Number : 143 Question Type: MCQ
Correct: 20 Wrong: 1.0

TrafeRT geTay @7 wet af g &7

" U wleleT %1 o1 S0 g1 & §1
Options:

1. ST @ T ST G T
2. ® Hpad ud uiedw g U a1 A 8
3 ® T oK e ar B a A g
4 % e Sl SITHAERT H e ST §
S ® zqd DL Tl

Question Number : 144 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
“37e1 o Tdd FIEMTE' !

Options:

1. % arf

2 % fouer

3 ¢ Tft

4. % g

S % sIH I FE TRl

Question Number : 144 Question Type: MCQ
Correct: 20 Wrong: 1.0
"SR mﬁﬂﬁnwsﬁm?

Options:

1. % arpef
2. % T
3. v =it
4. % =g



5 ® Tt @ wE A

Question Number : 145 Question Type: MCQ
Correct: 2.0 Wrong: 1.0
T mﬁaﬁﬂw@m?

Options:

1. % ot

2 ® e

3 ® fdw

4 & T

5 % g d @ FE g

Question Number : 145 Question Type: MCQ
Correct : 2.0 Wrong: 1.0
“Afera & T EF«’-JTE s

Options:

1. % =gt

2 ® aWHA

3 % Tl

4. v e

S ® A FE A5

Question Number : 146 Question Type: MCQ
Correct: 20 Wrong: 1.0

* e o TEIRE T B
Options:

1.9 amg

2 % a

3. % gmm

4 % A

5 % st wE s

Question Number : 146 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

“ g < TEIR I T S I
Options:
1. % amg

L

Question Number : 147 Question Type: MCQ
Correct: 20 Wrong: 1.0

"I T HATRIE eg F4T &7

Options:

1. % T=RiRr

2 ® "R



2. % amAElg
4. ¥ Tw
S ® A gt

Question Number : 147 Question Type: MCQ
Correct: 2.0 Wrong: 1.0

AT T TR deg 74T 57

Options:

1. % ==

2. % d9y

3 % adAlg

4 & GOEE

5. ® g AP Al

Question Number : 148 Question Type: MCQ
Correct : 20 Wrong: 1.0

"SI W AR ® deg FAT 57

Options:

1. % gege

2. o g

3. % gl

4 % @@

S ® AU E R A8l

Question Number : 148 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

“SAHT” T AAAEE e FAT 57

Options:

1. % smega

2. o g

3. % Tifgeit

4 % gm

5 % g d @ FIE A

Question Number : 149 Question Type: MCQ
Correct : 2.0 Wrong: 1.0

“ARTE" W GHFEIE SMeg 747 57

Options:

1. Fmo

® Tl

% ey

 ® TR PIE TRl

Question Number : 149 Question Type: MCQ
Correct: 20 Wrong: 1.0
“ARTE" T GRS deg F47 57

Options:




& g

% foelq

® anm

. % Tl

R g d g wg gl

o W

Question Number : 150 Question Type: MCQ
Correct: 2.0 Wrong: 1.0
‘TS T THHRIE e FaT 57

Options:

1. % qmrem

. ¥ TET

3. % gl

4. % epmt

5. ® g d AP Al

Question Number : 150 Question Type: MCQ
Correct: 20 Wrong: 1.0
T T FHRIF e 77T &7

Options:

1. % qRTem

2. ¥ FET

3. % ey

4. % emi

S ® s HEEE AR




